7:50:53 5/11/2021	Public Improvement Assessment Rol I	l by PID (Fee to Asmt) Project: Ratification Date: Resolutio		smt: 195501	Manager: LMR	Page 1
<u>Owner or Taxpayer</u>	Property Description	Item Description	<u>Unit Rate</u>	<u>Quantity</u>	Charge Amts	<u>Property ID</u>
City Of St Paul Cs Pr 33077 15 Kellogg Blvd Room 140 Court St Paul MN 55102-1613 * 1297 ARLINGTON AVE E *Ward: 6 *Pending as of: 1/21/2021	LAKE RESIDENCES EX ST BEG AT INTERSECTION OF ELY L OF PHALEN PARK AND S L OF NE 1/4 OF SEC 21 TH N 20 DEG 27 MIN W ALONG ELY L OF PARK 232 83/100 FT TH E 155 FT TH S 20 DEG 27 MIN E 232 83/100 FT	Mill and Overlay - Commercia Mill and Overlay - Residential *** Owner and Taxpayer ***	19.02 19.02	155.00 0.00 =	\$2,948.10 \$0.00 \$2,948.10	21-29-22-14-0085 ***EXEMPT***
James W Waldo 1444 East Shore Dr St Paul MN 55106-1100 * 1444 EAST SHORE DR *Ward: 6 *Pending as of: 1/21/2021	LAKE RESIDENCES EX PART TO CITY IN 624 OF DEEDS PAGE 39 THE N 60 FT OF S 93 FT OF LOT 2	Mill and Overlay - Commercia	19.02	223.00 =	\$4,241.46 \$4,241.46	21-29-22-14-0086
City Of St Paul 25 4th St W Rm 1000 St Paul MN 55102-1692 * 1298 ARLINGTON AVE E *Ward: 6 *Pending as of: 1/21/2021	ANNIE D MACKAYS LK VIEW ADD BLKS 1 AND BLK 2	Mill and Overlay - Commercia	19.02	367.00 =	\$6,980.34 \$6,980.34	21-29-22-41-0001 ***EXEMPT***
Reinvention Real Estate Group Llc 6354 Willow Ln Brooklyn Center MN 55430-1905 * 1607 ARLINGTON AVE E *Ward: 6 *Pending as of: 1/21/2021	WHEELER'S SUBDIVISION OF LOT 14 OF KERWIN'S OUTLOTS TO THE CITY OF ST. PAUL, MINN. LOT 15 BLK 2	Mill and Overlay - Commercia *** Owner and Taxpayer ***	19.02	50.00 =	\$951.00 \$951.00	22-29-22-13-0085

7:50:53 5/11/2021	Public Improvement Assessment Roll by PID (Fee to Asmt)Project: MO1900 Assmt: 195501Manager: LMRProject: MO1900 Assmt: 195501Ratification Date:Resolution #:						
<u>Owner or Taxpayer</u>	Property Description	Item Description	<u>Unit Rate</u>	<u>Quantity</u>	Charge Amts	Property ID	
Robert M Hathaway 1617 Arlington Ave E St Paul MN 55106-1504 * 1617 ARLINGTON AVE E *Ward: 6 *Pending as of: 1/21/2021	WHEELER'S SUBDIVISION OF LOT 14 OF KERWIN'S OUTLOTS TO THE CITY OF ST. PAUL, MINN. LOT 17 BLK 2	Mill and Overlay - Commercia	19.02	50.00 =	\$951.00 \$951.00	22-29-22-13-0087	
Matthew Danielson Leonela Butler 1637 Arlington Ave E St Paul MN 55106-1504 *1637 ARLINGTON AVE E *Ward: 6 *Pending as of: 1/21/2021	WHEELER'S SUBDIVISION OF LOT 14 OF KERWIN'S OUTLOTS TO THE CITY OF ST. PAUL, MINN. LOT 21 BLK 2	Mill and Overlay - Commercia	19.02	50.00 =	\$951.00 \$951.00	22-29-22-13-0091	
Shai Xiong 1595 Arlington Ave E St Paul MN 55106-1502 * 1595 ARLINGTON AVE E *Ward: 6 *Pending as of: 1/21/2021	JOHNSON'S SUBDIVISION OF THE SOUTH 1/2 OF LOT 13 KERWINS OUTLOTS LOTS 16 AND LOT 17	Mill and Overlay - Commercia Mill and Overlay - Residential *** Owner and Taxpayer ***	19.02 19.02	^{79.00} ^{0.00} =	\$1,502.58 \$0.00 \$1,502.58	22-29-22-13-0178	
Nhu Nguyen 1571 Arlington Ave E St Paul MN 55106-1502 * 1571 ARLINGTON AVE E *Ward: 6 *Pending as of: 1/21/2021	JOHNSON'S SUBDIVISION OF THE SOUTH 1/2 OF LOT 13 KERWINS OUTLOTS E 1/2 OF LOT 22 AND ALL OF LOT 21	Mill and Overlay - Commercia *** Owner and Taxpayer ***	19.02	60.00 =	\$1,141.20 \$1,141.20	22-29-22-13-0182	

7:50:53 5/11/2021	Public Improvement Assessment Rol	Page 3				
<u>Owner or Taxpayer</u>	Property Description	Ratification Date: Resolutio <u>Item Description</u>	<u>Unit Rate</u>	<u>Quantity</u>	Charge Amts	Property ID
Shane Anthony Malecha 1553 Arlington Ave E St Paul MN 55106-1502 *1553 ARLINGTON AVE E *Ward: 6 *Pending as of: 1/21/2021	JOHNSON'S SUBDIVISION OF THE SOUTH 1/2 OF LOT 13 KERWINS OUTLOTS LOTS 26 AND LOT 27	Mill and Overlay - Commercia	19.02	79.00 =	\$1,502.58 \$1,502.58	22-29-22-13-0185
Karole Anne Lankton Iehl 1444 Hazelwood St St Paul MN 55106-1509 * 1444 HAZELWOOD ST *Ward: 6 *Pending as of: 1/21/2021	JOHNSON'S SUBDIVISION OF THE SOUTH 1/2 OF LOT 13 KERWINS OUTLOTS EX N 20 67/100 FT LOT 29 AND ALL OF LOT 28	Mill and Overlay - Commercia *** Owner and Taxpayer ***	19.02	^{119.00} =	\$2,263.38 \$2,263.38	22-29-22-13-0186
Kenneth W Jackson Jr Erica Jackson 1445 White Bear Ave N St Paul MN 55106-2404 * 1445 WHITE BEAR AVE N *Ward: 6 *Pending as of: 1/21/2021	MOODY'S REARRANGEMENT LOT 6	Mill and Overlay - Commercia *** Owner and Taxpayer ***	19.02	140.00 =	\$2,662.80 \$2,662.80	22-29-22-14-0062
Alma Rentals Inc 5620 Memorial Ave N Suite E Stillwater MN 55082-1052 *1721 ARLINGTON AVE E *Ward: 6 *Pending as of: 1/21/2021	R. F. MARVIN'S ADDITION ST. PAUL W 1/2 OF LOT 17 AND ALL OF LOT 16 BLK 2	 Mill and Overlay - Commercia Mill and Overlay - Residential *** Owner and Taxpayer *** 	19.02 19.02	58.00 0.00 =	\$1,103.16 \$0.00 \$1,103.16	22-29-22-14-0071

7:50:53 5/11/2021	Public Improvement Assessment Roll by PID (Fee to Asmt)Project: MO1900 Assmt: 195501Manager: LMRPaRatification Date:Resolution #:						
<u>Owner or Taxpayer</u>	Property Description	Item Description	<u>Unit Rate</u>	<u>Quantity</u>	Charge Amts	<u>Property ID</u>	
Michael J Casey Deborah M R Casey 1731 Arlington Ave E St Paul MN 55106-1533 *1731 ARLINGTON AVE E *Ward: 6 *Pending as of: 1/21/2021	R. F. MARVIN'S ADDITION ST. PAUL E 15 FT OF LOT 18 AND EX E 5 FT LOT 19 BLK 2	Mill and Overlay - Commercia	19.02	48.00 =	\$912.96 \$912.96	22-29-22-14-0073	
Chad T Nestor 1739 Arlington Ave E St Paul MN 55106-1533 *1739 ARLINGTON AVE E *Ward: 6 *Pending as of: 1/21/2021	R. F. MARVIN'S ADDITION ST. PAUL LOTS 21 AND LOT 22 BLK 2	Mill and Overlay - Commercia *** Owner and Taxpayer ***	19.02	80.00 =	\$1,521.60 \$1,521.60	22-29-22-14-0075	
						ESCROW	
John K Winter Donna J Lemay 1747 Arlington Ave St Paul MN 55106-1533 *1747 ARLINGTON AVE E *Ward: 6 *Pending as of: 1/21/2021	R. F. MARVIN'S ADDITION ST. PAUL LOT 23 BLK 2	Mill and Overlay - Commercia *** Owner and Taxpayer ***	19.02	40.00 =	\$760.80 \$760.80	22-29-22-14-0076	
Rodney Edwards 1755 Arlington Ave E St Paul MN 55106-1533 *1755 ARLINGTON AVE E *Ward: 6 *Pending as of: 1/21/2021	R. F. MARVIN'S ADDITION ST. PAUL LOT 25 BLK 2	Mill and Overlay - Commercia *** Owner and Taxpayer ***	19.02	39.00 =	\$741.78 \$741.78	22-29-22-14-0078	

7:50:53 5/11/2021	Public Improvement Assessment Rol I	Manager: LMR	Page 5			
<u>Owner or Taxpayer</u>	Property Description	Item Description	<u>Unit Rate</u>	<u>Quantity</u>	Charge Amts	<u>Property ID</u>
Ruth Hjelmgren Jay Theriault 1039 Dorland Rd S Maplewood MN 55119-3576 *1759 ARLINGTON AVE E *Ward: 6 *Pending as of: 1/21/2021	R. F. MARVIN'S ADDITION ST. PAUL LOT 26 BLK 2	Mill and Overlay - Commercia	19.02	40.00 =	\$760.80 \$760.80	22-29-22-14-0079
Cornelius Roy Loraine B J Williamson 1701 Arlington Ave E St Paul MN 55106-1506 *1701 ARLINGTON AVE E *Ward: 6 *Pending as of: 1/21/2021	J. BERNARD'S ADDITION LOT 24 BLK 2	Mill and Overlay - Commercia	19.02	41.00 =	\$779.82 \$779.82	22-29-22-14-0170
Julianna D Leintz 1709 Arlington Ave E St Paul MN 55106-1506 *1709 ARLINGTON AVE E *Ward: 6 *Pending as of: 1/21/2021	J. BERNARD'S ADDITION LOT 26 BLK 2	Mill and Overlay - Commercia *** Owner and Taxpayer ***	19.02	42.00 =	\$798.84 \$798.84	22-29-22-14-0172
Lisa Beasley 1713 Arlington Ave E St Paul MN 55106-1506 * 1713 ARLINGTON AVE E *Ward: 6 *Pending as of: 1/21/2021	J. BERNARD'S ADDITION LOT 27 BLK 2	Mill and Overlay - Commercia *** Owner and Taxpayer ***	19.02	40.00 =	\$760.80 \$760.80	22-29-22-14-0173

7:50:53 5/11/2021	Public Improvement Assessment Roll by PID (Fee to Asmt) Project: MO1900 Assmt: 195501 M Ratification Date: Resolution #:					Page 6	
Owner or Taxpayer	Property Description	Item Description	<u>Unit Rate</u>	<u>Quantity</u>	Charge Amts	Property ID	
Wesley L Gustafson Sheila M Gustafson 1717 Arlington Ave E St Paul MN 55106-1506 *1717 ARLINGTON AVE E *Ward: 6 *Pending as of: 1/21/2021	J. BERNARD'S ADDITION LOT 28 BLK 2	Mill and Overlay - Commercia Mill and Overlay - Residential *** Owner and Taxpayer ***	19.02 19.02	41.00 0.00	\$779.82 \$0.00 \$779.82	22-29-22-14-0174	
County Of Ramsey Reg Rr Auth C/O Ramsey County Property Mgmt Director 121 7th Place E Ste 2100 St Paul MN 55101-2146 *1292 IOWA AVE E *Ward: 6 *Pending as of: 1/21/2021	SECTION 21 TOWN 29 RANGE 22 SUBJ TO ESMT PER DOC #2498892; A 100 FT RY R/W ACROSS LOTS 11 & 14 LAKE RESIDENCES & ACROSS WLY PART OF SEC 22 & ACROSS ELY PART OF GOV'T LOT 6 IN SEC 21 TN 29 RN 22	Mill and Overlay - Commercia *** Owner and Taxpayer ***	19.02	200.00	\$3,804.00	22-29-22-22-0132 ***EXEMPT***	
Xiong C Vang Mai Y Thao 1367 Arlington Ave E St Paul MN 55106-1438 * 1367 ARLINGTON AVE E *Ward: 6 *Pending as of: 1/21/2021	MAYALL PARK E 65 FT OF W 140 FT OF FOL S 10 FT OF LOT 4 AND ALL OF LOT 5 BLK 2	Mill and Overlay - Commercia *** Owner and Taxpayer ***	19.02	65.00	\$1,236.30 \$1,236.30	22-29-22-23-0071	
Ted Ries 8124 Clifford Cir Inver Grove Heights MN 55076-4571 * 1359 ARLINGTON AVE E *Ward: 6 *Pending as of: 1/21/2021	MAYALL PARK EX N 100 FT THE W 75 FT OF LOT 4 AND W 75 FT OF LOT 5 BLK 2	Mill and Overlay - Commercia Mill and Overlay - Residential *** Owner and Taxpayer ***	19.02 19.02	75.00 0.00	\$1,426.50 \$0.00 \$1,426.50	22-29-22-23-0072	

*Pending as of: 1/21/2021

7:50:53 5/11/2021	Public Improvement Assessment Rol	Manager: LMR	Page 7			
<u>Owner or Taxpayer</u>	Property Description	Item Description	<u>Unit Rate</u>	<u>Quantity</u>	Charge Amts	<u>Property ID</u>
Bradley Madison Kevin Pieh 1339 Arlington Ave E St Paul MN 55106-1428 *1339 ARLINGTON AVE E *Ward: 6 *Pending as of: 1/21/2021	BERLAND ADDITION NO. 4 LOT 14 BLK 12	Mill and Overlay - Commercia Mill and Overlay - Residential *** Owner and Taxpayer ***	19.02 19.02	127.00 0.00	\$2,415.54 \$0.00 \$2,415.54	22-29-22-23-0116
Nick Batterman Badiatu Musa 1445 Mcafee St St Paul MN 55106-1434 *1445 MCAFEE ST *Ward: 6 *Pending as of: 1/21/2021	MAYALL PARK EX W 50 FT THE S 75 FT OF LOT 3 BLK 4	Mill and Overlay - Commercia Mill and Overlay - Residential *** Owner and Taxpayer ***	19.02 19.02	125.00 0.00	\$2,377.50 \$0.00 \$2,377.50	22-29-22-23-0142
City Of St Paul Parks And Recreation 25 4th St W Suite 1000 St Paul MN 55102-1692 *1470 ENGLISH ST *Ward: 6 *Pending as of: 1/21/2021	MAYALL PARK ALL OF BLK 5	Mill and Overlay - Commercia *** Owner and Taxpayer ***	19.02	21.00	\$399.42 \$399.42	22-29-22-23-0153 ***EXEMPT***
Hanh Tam Xuan Nguyen 1319 Arlington Ave E St Paul MN 55106-1426 * 1319 ARLINGTON AVE E *Ward: 6 *Pending as of: 1/21/2021	MAYALL PARK WITH ESMT PER DOC #2498892 & W 50 FT OF S 139 FT OF LOT 3 BLK 4	Mill and Overlay - Commercia *** Owner and Taxpayer ***	19.02	49.00 <u>-</u>	\$931.98 \$931.98	22-29-22-23-0160

7:50:53 5/11/2021	Public Improvement Assessment Roll H	by PID (Fee to Asmt) Project: Ratification Date: Resolutio		smt: 195501	Manager: LMR	Page
<u>Owner or Taxpayer</u>	Property Description	Item Description	<u>Unit Rate</u>	<u>Quantity</u>	Charge Amts	<u>Property ID</u>
Elvin Galdamez Maria P Galdamez 1501 Arlington Ave E St Paul MN 55106-1403 * 1501 ARLINGTON AVE E *Ward: 6	IDE'S OUTLOTS W 73 FT OF E 386 FT OF S 133 FT OF LOT 10	Mill and Overlay - Commercia *** Owner and Taxpayer ***	19.02	70.00 =	\$1,331.40 \$1,331.40	22-29-22-24-0033
*Pending as of: 1/21/2021						***ESCROW***
Txiaj Xab Lee 1473 Arlington Ave E St Paul MN 55106-1401 * 1473 ARLINGTON AVE E *Ward: 6 *Pending as of: 1/21/2021	IDE'S OUTLOTS SUBJ TO BARCLAY ST THE S 206 FT OF E 135 FT OF LOT 9	Mill and Overlay - Commercia Mill and Overlay - Residential *** Owner and Taxpayer ***	19.02 19.02	105.00 0.00 =	\$1,997.10 \$0.00 \$1,997.10	22-29-22-24-0143
Dan L Holton 1467 Arlington Ave E St Paul MN 55106-1401 *1467 ARLINGTON AVE E *Ward: 6 *Pending as of: 1/21/2021	IDE'S OUTLOTS EX E 135 FT AND EX W 234 FT LYING E OF E L OF LOT 8 THE S 133 FT OF LOT 9	Mill and Overlay - Commercia *** Owner and Taxpayer ***	19.02	53.00 =	\$1,008.06	22-29-22-24-0144
Paris Nicole Vener 1449 Arlington Ave E St Paul MN 55106 * 1449 ARLINGTON AVE E *Ward: 6 *Pending as of: 1/21/2021	IDE'S OUTLOTS E 60 FT OF W 120 FT OF S 133 FT OF PART E OF EXTENDED E L OF LOT 8 OF LOT 9	Mill and Overlay - Commercia *** Owner and Taxpayer ***	19.02	60.00 =	\$1,141.20 \$1,141.20	22-29-22-24-0147

7:50:53 5/11/2021	Public Improvement Assessment Rol I	l by PID (Fee to Asmt) Project: Ratification Date: Resolutio		mt: 195501	Manager: LMR	Page 9
<u>Owner or Taxpayer</u>	Property Description	Item Description	<u>Unit Rate</u>	<u>Quantity</u>	Charge Amts	<u>Property ID</u>
Daniel Foley 1421 Arlington Ave E St Paul MN 55106-1433 *1421 ARLINGTON AVE E *Ward: 6 *Pending as of: 1/21/2021	SECTION 22 TOWN 29 RANGE 22 EX W 30 FT AND S 33 FT FOR STS THE S 158 FT OF W 80 FT OF SE 1/4 OF NW 1/4 OF SEC 22 TN 29 RN 22	Mill and Overlay - Commercia Mill and Overlay - Residential *** Owner and Taxpayer ***	19.02 19.02	50.00 0.00 =	\$951.00 \$0.00 \$951.00	22-29-22-24-0151
Ronald A Twardowski Theresa C Twardowski 950 Lydia Ave W Roseville MN 55113-1941 *1502 ARLINGTON AVE E *Ward: 6 *Pending as of: 1/21/2021	ROGERS AND HENDRICKS ACRE LOTS NO. 2 E 48 FT OF LOT 10 BLK 1	Mill and Overlay - Commercia	19.02	48.00 =	\$912.96 \$912.96	22-29-22-31-0032
Dennis D Miller Christine H Miller 1460 Arlington Ave E St Paul MN 55106-1402 * 1460 ARLINGTON AVE E *Ward: 6 *Pending as of: 1/21/2021	P. D. WINCHELL'S ADDITION TO ST. PAUL, RAMSEY COUNTY, MINNESOTA W 7 FT OF LOT 4 AND ALL OF LOTS 5 AND LOT 6	Mill and Overlay - Commercia *** Owner and Taxpayer ***	19.02	84.00 =	\$1,597.68 \$1,597.68	22-29-22-31-0060 ***ESCROW***
Malina Moua 1520 Arlington Ave E St Paul MN 55106-1404 * 1520 ARLINGTON AVE E *Ward: 6 *Pending as of: 1/21/2021	ROGERS AND HENDRICKS ACRE LOTS NO. 2 THE E 52 FT OF THE W 117 FT OF LOT 1 BLK 1	Mill and Overlay - Commercia	19.02	53.00 =	\$1,008.06	22-29-22-31-0155

7:50:53 5/11/2021	Public Improvement Assessment Rol	l by PID (Fee to Asmt) Project: Ratification Date: Resolutio		smt: 195501	Manager: LMR	Page 10
<u>Owner or Taxpayer</u>	Property Description	Item Description	<u>Unit Rate</u>	<u>Quantity</u>	Charge Amts	Property ID
Amanda J Short 1524 Arlington Ave E St Paul MN 55106-1404 * 1524 ARLINGTON AVE E *Ward: 6 *Pending as of: 1/21/2021	ROGERS AND HENDRICKS ACRE LOTS NO. 2 EX THE ELY 66.95 FT MEASURED ALONG THE N & S LINES & ALSO EX THE W 117 FT MEAS AT RA TO THE W LINE OF LOT 1 BLK 1	Mill and Overlay - Commercia	19.02	88.00 =	\$1,673.76 \$1,673.76	22-29-22-31-0156
Kao Yank 1382 Arlington Ave E St Paul MN 55106-1430 * 1382 ARLINGTON AVE E *Ward: 6 *Pending as of: 1/21/2021	SECTION 22 TOWN 29 RANGE 22 SUBJ TO AVE THE W 53 FT OF E 425 6/10 FT OF N 1/2 OF N 1/2 OF NW 1/4 OF SW 1/4 OF SEC 22 TN 29 RN 22	Mill and Overlay - Commercia *** Owner and Taxpayer ***	19.02	53.00 =	\$1,008.06	22-29-22-32-0050
Nathan R Raddatz 1376 Arlington Ave E St Paul MN 55106-1430 *1376 ARLINGTON AVE E *Ward: 6 *Pending as of: 1/21/2021	SECTION 22 TOWN 29 RANGE 22 SUBJ TO AVE THE FOL W 10 FT OF E 488 6/10 FT EX THE S 150 FT ALSO THE W 53 FT OF E 478 6/10 FT OF N 1/2 OF NE 1/4 OF NW 1/4 OF SW 1/4 OF SEC 22 TN 29 RN 22	Mill and Overlay - Commercia *** Owner and Taxpayer ***	19.02	63.00 =	\$1,198.26 \$1,198.26	22-29-22-32-0051
Alexandra A Golovko Trustee 1370 Arlington Ave E St Paul MN 55106-1430 *1370 ARLINGTON AVE E *Ward: 6 *Pending as of: 1/21/2021	SECTION 22 TOWN 29 RANGE 22 SUBJ TO AVE AND EX E 488 6/10 FT AND EX S 150 FT THE E 4 ACRES OF N 1/2 OF NE 1/4 OF NW 1/4 OF SW 1/4 ALSO EX SD S 150 FT THE E 20 FT OF PART W THEREOF ALL IN SEC 22 TN 29 RN	Mill and Overlay - Commercia *** Owner and Taxpayer ***	19.02	67.00 =	\$1,274.34 \$1,274.34	22-29-22-32-0054

7:50:53 5/11/2021	Public Improvement Assessment Roll F	Page 11				
Owner or Taxpayer	Property Description	Item Description	<u>Unit Rate</u>	<u>Quantity</u>	Charge Amts	Property ID
Eduardo Lopez Augilar 1364 Arlington Ave E St Paul MN 55106-1430 *1364 ARLINGTON AVE E *Ward: 6 *Pending as of: 1/21/2021	SECTION 22 TOWN 29 RANGE 22 SUBJ TO AVE AND ST AND EX E 4 ACRES AND EX S 150 FT AND EX E 20 FT N OF SD S 150 FT THE N 1/2 OF NE 1/4 OF NW 1/4 OF SW 1/4 OF SEC 22 TN 29 RN 22	Mill and Overlay - Commercia	19.02	75.00 =	\$1,426.50 \$1,426.50	22-29-22-32-0055
Ddn Futures Llc 811 Nebraska Ave E St Paul MN 55106-1735 * 1439 MCAFEE ST *Ward: 6 *Pending as of: 1/21/2021	WITT'S ADDITION LOT 1 BLK 1	Mill and Overlay - Commercia Mill and Overlay - Residential *** Owner and Taxpayer ***	19.02 19.02	152.00 0.00 =	\$2,891.04 \$0.00 \$2,891.04	22-29-22-32-0098
City Of St Paul 25 4th St W Rm 1000 St Paul MN 55102-1692 * 1298 ARLINGTON AVE E *Ward: 6 *Pending as of: 1/21/2021	SECTION 22 TOWN 29 RANGE 22 SUBJ TO STS PART OF GOVT LOT 1 W OF N I RY R/W IN SW 1/4 OF SEC 22 TN 29 RN 22		19.02	49.00 =	\$931.98 \$931.98	22-29-22-32-0119 ***EXEMPT***
Kadie M Vang Roberto C Orea Torres 1762 Arlington Ave E St Paul MN 55106-1534 *1762 ARLINGTON AVE E *Ward: 6 *Pending as of: 1/21/2021	LARSON'S HAZEL PARK HOMESITES LOT 7	Mill and Overlay - Commercia *** Owner and Taxpayer ***	19.02	42.00 =	<u>\$798.84</u> \$798.84	22-29-22-41-0005

7:50:53 5/11/2021	Public Improvement Assessment Rol	Manager: LMR	Page 12			
<u>Owner or Taxpayer</u>	Property Description	Item Description	<u>Unit Rate</u>	<u>Quantity</u>	Charge Amts	<u>Property ID</u>
Forever More Trust 1758 Arlington Ave E St Paul MN 55106-1534 *1758 ARLINGTON AVE E *Ward: 6 *Pending as of: 1/21/2021	LARSON'S HAZEL PARK HOMESITES LOT 8	Mill and Overlay - Commercia *** Owner and Taxpayer ***	19.02	42.00 =	\$798.84 \$798.84	22-29-22-41-0006
Adrianne M Monn 1754 Arlington Ave E St Paul MN 55106-1534 * 1754 ARLINGTON AVE E *Ward: 6 *Pending as of: 1/21/2021	LARSON'S HAZEL PARK HOMESITES E 1/2 OF LOT 10 AND ALL OF LOT 9	Mill and Overlay - Commercia *** Owner and Taxpayer ***	19.02	63.00 =	\$1,198.26 \$1,198.26	22-29-22-41-0007
Ryan A Townsend 1746 Arlington Ave E St Paul MN 55106-1534 * 1746 ARLINGTON AVE E *Ward: 6 *Pending as of: 1/21/2021	LARSON'S HAZEL PARK HOMESITES W 1/2 OF LOT 10 AND ALL OF LOT 11	Mill and Overlay - Commercia *** Owner and Taxpayer ***	19.02	62.00 =	\$1,179.24 \$1,179.24	22-29-22-41-0008
Richard R Rudin 1726 Arlington Ave E St Paul MN 55106-1534 * 1726 ARLINGTON AVE E *Ward: 6 *Pending as of: 1/21/2021	LARSON'S HAZEL PARK HOMESITES LOT 16	Mill and Overlay - Commercia *** Owner and Taxpayer ***	19.02	42.00 =	\$798.84 \$798.84	22-29-22-41-0013

7:50:53 5/11/2021	Public Improvement Assessment Roll by PID (Fee to Asmt) Project: MO1900 Assmt: 195501 Manager: LMR Ratification Date: Resolution #:					Page 13	
<u>Owner or Taxpayer</u>	Property Description	Item Description	<u>Unit Rate</u>	<u>Quantity</u>	Charge Amts	<u>Property ID</u>	
Celeste N Cataldo 1716 Arlington Ave E St Paul MN 55106-1507 *1716 ARLINGTON AVE E *Ward: 6 *Pending as of: 1/21/2021	CLINKENDEAN ADDITION E 1/2 OF LOT 2 AND ALL OF LOT 1 BLK 1	Mill and Overlay - Commercia Mill and Overlay - Residential *** Owner and Taxpayer ***	19.02 19.02	60.00 0.00 =	\$1,141.20 \$0.00 \$1,141.20	22-29-22-41-0096	
Jesus Mendoza 1712 Arlington Ave E St Paul MN 55106 *1712 ARLINGTON AVE E *Ward: 6 *Pending as of: 1/21/2021	CLINKENDEAN ADDITION W 1/2 OF LOT 2 AND ALL OF LOT 3 BLK 1	Mill and Overlay - Commercia *** Owner and Taxpayer ***	19.02	62.00 =	\$1,179.24 \$1,179.24	22-29-22-41-0097	
John E Harrington Lisa A Harrington 1702 Arlington Ave E St Paul MN 55106-1507 *1702 ARLINGTON AVE E *Ward: 6 *Pending as of: 1/21/2021	SOETE'S SUBDIVISION E 20 FT OF LOT 2 AND ALL OF LOT 1	Mill and Overlay - Commercia *** Owner and Taxpayer ***	19.02	60.00 =	\$1,141.20 \$1,141.20	22-29-22-41-0098	
Fernando Carrillo 1658 Arlington Ave E St Paul MN 55106-1505 * 1658 ARLINGTON AVE E *Ward: 6 *Pending as of: 1/21/2021	FRED S. HERRING'S PLAT 1 LOT 1 BLK 1	Mill and Overlay - Commercia Mill and Overlay - Residential *** Owner and Taxpayer ***	19.02 19.02	48.00 0.00 =	\$912.96 \$0.00 \$912.96	22-29-22-42-0001	

7:50:53 5/11/2021	Public Improvement Assessment Roll by PID (Fee to Asmt) Project: MO1900 Assmt: 195501 Manager: LMR Ratification Date: Resolution #:					Page 14	
Owner or Taxpayer	Property Description	Item Description	<u>Unit Rate</u>	<u>Quantity</u>	Charge Amts	<u>Property ID</u>	
Anny Trang Dang Trustee 2400 Flandrau St N St Paul MN 55109-2100 *1650 ARLINGTON AVE E *Ward: 6 *Pending as of: 1/21/2021	FRED S. HERRING'S PLAT 1 LOT 3 BLK 1	Mill and Overlay - Commercia *** Owner and Taxpayer ***	19.02	49.00 =	\$931.98 \$931.98	22-29-22-42-0003	
Andrew W Museus Mimi B Hua 1644 Arlington Ave E St Paul MN 55106-6522 *1644 ARLINGTON AVE E *Ward: 6 *Pending as of: 1/21/2021	FRED S. HERRING'S PLAT 1 LOT 4 BLK 1	Mill and Overlay - Commercia	19.02	52.00 =	\$989.04 \$989.04	22-29-22-42-0004	
Janelle Burrell 1634 Arlington Ave E St Paul MN 55106-1505 * 1634 ARLINGTON AVE E *Ward: 6 *Pending as of: 1/21/2021	FRED S. HERRING'S PLAT 1 LOT 6 BLK 1	Mill and Overlay - Commercia *** Owner and Taxpayer ***	19.02	50.00 =	\$951.00 \$951.00	22-29-22-42-0006	
Adele R Gustafson William C Gustafson 1628 Arlington Ave E St Paul MN 55106-1505 *1628 ARLINGTON AVE E *Ward: 6 *Pending as of: 1/21/2021	FRED S. HERRING'S PLAT 1 LOT 7 BLK 1	Mill and Overlay - Commercia *** Owner and Taxpayer ***	19.02	50.00 =	\$951.00 \$951.00	22-29-22-42-0007	

7:50:53 5/11/2021	Public Improvement Assessment Roll by PID (Fee to Asmt) Project: MO1900 Assmt: 195501 Manager: LMR Ratification Date: Resolution #:						
<u>Owner or Taxpayer</u>	Property Description	Item Description	<u>Unit Rate</u>	<u>Quantity</u>	Charge Amts	<u>Property ID</u>	
Christopher J Kornberg 1618 Arlington Ave E St Paul MN 55106-1505 *1618 ARLINGTON AVE E *Ward: 6 *Pending as of: 1/21/2021	FRED S. HERRING'S PLAT 1 LOT 9 BLK 1	Mill and Overlay - Commercia	19.02	53.00 =	\$1,008.06 \$1,008.06	22-29-22-42-0009	
Jennifer E Richmond 1612 Arlington Ave E St Paul MN 55106-1505 *1612 ARLINGTON AVE E *Ward: 6 *Pending as of: 1/21/2021	FRED S. HERRING'S PLAT 1 LOT 10 BLK 1	Mill and Overlay - Commercia *** Owner and Taxpayer ***	19.02	47.00 =	<u>\$893.94</u> \$893.94	22-29-22-42-0010	
William M Verhaigh 1608 Arlington Ave E St Paul MN 55106-1505 * 1608 ARLINGTON AVE E *Ward: 6 *Pending as of: 1/21/2021	FRED S. HERRING'S PLAT 1 LOT 11 BLK 1	Mill and Overlay - Commercia *** Owner and Taxpayer ***	19.02	50.00 =	\$951.00 \$951.00	22-29-22-42-0011	
Norman Courneya 1604 Arlington Ave E St Paul MN 55106-1505 *1604 ARLINGTON AVE E *Ward: 6 *Pending as of: 1/21/2021	FRED S. HERRING'S PLAT 1 LOT 12 BLK 1	Mill and Overlay - Commercia Mill and Overlay - Residential *** Owner and Taxpayer ***	19.02 19.02	50.00 0.00 =	\$951.00 \$0.00 \$951.00	22-29-22-42-0012	

ESCROW

7:50:53 5/11/2021	Public Improvement Assessment Roll R	Page 1				
<u>Owner or Taxpayer</u>	Property Description	atification Date: Resolutio <u>Item Description</u>	Unit Rate	<u>Quantity</u>	Charge Amts	Property ID
Lani L Caldwell 1568 Arlington Ave E St Paul MN 55106-1503 * 1568 ARLINGTON AVE E *Ward: 6 *Pending as of: 1/21/2021	LONG AND SHERWOODS SUBD OF BLOCK 2 DAWSON'S ACRE LOTS EX E 9 77/100 FT LOT 7 AND E 19 77/100 FT OF LOT 8 BLK 1	Mill and Overlay - Commercia *** Owner and Taxpayer ***	19.02	50.00 =	\$951.00 \$951.00	22-29-22-42-0056
Ajah Peterson 1560 Arlington Avenue East St Paul MN 55106-1503 * 1560 ARLINGTON AVE E *Ward: 6 *Pending as of: 1/21/2021	LONG AND SHERWOODS SUBD OF BLOCK 2 DAWSON'S ACRE LOTS W 10 FT OF LOT 9 AND ALL OF LOT 10 BLK 1	Mill and Overlay - Commercia *** Owner and Taxpayer ***	19.02	50.00 =	\$951.00 \$951.00	22-29-22-42-0058
Wilma J Houska 1552 Arlington Ave E St Paul MN 55106-1503 * 1552 ARLINGTON AVE E *Ward: 6 *Pending as of: 1/21/2021	LONG AND SHERWOODS SUBD OF BLOCK 2 DAWSON'S ACRE LOTS E 19 77/100 FT OF LOT 13 AND W 30 FT OF LOT 12 BLK 1	Mill and Overlay - Commercia *** Owner and Taxpayer ***	19.02	50.00 =	\$951.00 \$951.00	22-29-22-42-0060
Brenda Kinney 1548 Arlington Ave E St Paul MN 55106-1503 * 1548 ARLINGTON AVE E *Ward: 6 *Pending as of: 1/21/2021	LONG AND SHERWOODS SUBD OF BLOCK 2 DAWSON'S ACRE LOTS EX E 19 77/100 FT LOT 13 AND E 29 77/100 FT OF LOT 14 BLK 1	Mill and Overlay - Commercia *** Owner and Taxpayer ***	19.02	50.00 =	\$951.00 \$951.00	22-29-22-42-0061

7:50:53 5/11/2021	Public Improvement Assessment	Roll by PID (Fee to Asm Ratification Date:	t) Project: MO1900 Ass Resolution #:	mt: 195501	Manager: LMR	Page 17
Owner or Taxpayer	Property Description	Item Description	<u>Unit Rate</u>	<u>Quantity</u>	Charge Amts	Property ID
Report Totals:						
64 Parcel(s)			Total Assessment:		\$85,766.96	
5 Cert. Exempt Parcel(s)			This Payment:		\$0.00	
			Current Year Principa	al:	\$0.00	
			Current Year Interest	:	\$0.00	
			Payoff Amount:		\$85,766.96	